Microbiology MCQs
Choose the correct answer 
1) Which of the following is NOT Gram-positive?
a) Listeria monocytogenes
b) Streptococcus pneumoniae
c) Staphylococcus saprophyticus
d) Klebsiella pneumonia
e) Streptococcus pyogenes
2) Which of the following is rod shaped?
a) Staphylococcus aureus
b) Niesseria gonorrhoeae
c) Bacillus anthracis
d) Borrelia burgdorferi
e) Moraxella catarrhalis
3) Which of the following is the best description of listeria monocytogenes?
a) Gram-negative spirals
b) Gram-negative cocci
c) Gram-negative rods
d) Gram-positive cocci
e) Gram-positive rods
4) Which of the following would be the best magnification power for viewing bacteria such as Echerichia coli with an oil immersion microscope?
a) 1x
b) 10x
c) 100x
d) 1,000x
e) 10,000x
5) Which of the following tests would involve looking for “bubbling” after application of the test agent?
a) Catalase
b) Coagulase
c) Bile esculin
d) Bacitracin
e) Optochin
6) If a bacteria ferments mannitol salt, which is a peachy red color, what color will it change to if the test is positive?
a) Blue
b) Red
c) Green
d) Yellow
e) Black
7) Streptococci pneumoniae is the number one cause of all of the following EXCEPT:
a) Adult meningitis
b) Neonatal meningitis
c) Community acquired pneumonia
d) Otitis media in children

8) In the hemolysis test on a blood agar plate, an incomplete hemolysis will show streaks of what color?

a) Blue

b) Clear

c) Green

d) Yellow

e) Black

9) Which of the following Gram-positive cocci is catalase positive and coagulase positive?

a) Staphylococci epidermidis

b) Staphylococci saprophyticus

c) Staphylococci aureus

d) Streptococci pyogenes

e) Streptococci agalactiae
10) Which of the following Gram-positive cocci is  (gamma) hemolytic?

a) Streptococci pneumonia

b) Viridans strep

c) Streptococci pyogenes

d) Streptococci agalactiae

e) Enterococcus

11) Which of the following Gram-negative rods does not ferment glucose and is oxidase positive?

a) E. coli

b) P. vulgaris

c) P. aeruginosa

d) Salmonella

e) Shigella

12) In the lactose fermentation MacConkey test, what color would indicate a positive test?

a) Black

b) Pink
c) Blue

d) Purple

e) Green

13) Which of the following Gram-negative rods ferments glucose, is oxidase negative, ferments lactose, and is indole positive (tryptophan metabolizing)?

a) E. coli

b) Shigella

c) K. pneumoniae

d) Salmonella

e) P. vulgaris

14) A child presents with vomiting and bloody stools. A bacterial culture yields Gramnegative  rods that are H2S negative. Which of the following is most likely?

a) E. coli  

b) Shigella

c) K. pneumoniae

d) Salmonella

e) P. vulgaris
15) Bacteria are cultured and found to be Gram-negative diplococci that grow on chocolate agar but not blood agar. Which of the following is the most likely?

a) Staphylococci

b) Streptococci

c) Mycoplasma

d) Haemophilus

e) Neisseria
16) Which of the following is a dextrose (glucose) fermenter and is a maltose and sucrose non-fermenter?

a) H. influenza

b) H. parainfluenza

c) S. pyogenes

d) N. gonorrhea
e) N. meningitis

17) A sexually active male presents with a painful sore (ulcer on his penis) and inguinal lymphadenopathy. Culture reveals Gram-negative coccobacilli that grow on chocolate Agar  but not blood agar. Which of the following ist he most likely?

a) C. trachomatis

b) T. pallidum

c) N. gonorrhea

d) H. ducreyi
e) H. influenza
18) Which of the following describes Moraxella catarrhalis and Neisseria gonorrhoeae in regards to Trio-tube (CHO) fermentation, where yellow is positive and peach is negative?

a) Yellow for dextrose, peach for maltose, peach for sucrose

b) Yellow for dextrose, yellow for maltose, peach for sucrose

c) Yellow for dextrose, yellow for maltose, yellow for sucrose

d) Peach for dextrose, yellow for maltose, yellow for sucrose

e) Peach for dextrose, peach for maltose, yellow for sucrose

19) What is the primary virulence factor for N. gonorrhea?

a) Capsule

b) Teichoic acic

c) Pili

d) Toxin

e) M protein

20) What is the primary virulence factor for H. influenza?
a) Capsule

b) Teichoic acic

c) Pili

d) Toxin

e) M protein
21) Which of the following is smallest in physical size?

a) Viruses
b) Bacteria

c) Fungi

d) Parasites
22) Which of the following determines whether a group of organisms that is from the  same genus and species arises from a common source or from distinct sources?

a) Serotyping

b) Biotyping
c) Phage typing

d) DNA hybridization

e) Antibiogram patterning

23) Which of the following uses antibodies to detect bacterial antigens?

a) Serotyping
b) Biotyping

c) Phage typing

d) DNA hybridization

e) Antibiogram patterning
24) Of the following aerobic, Gram-positive cocci, which is catalase-positive?

a) Aerococcus

b) Enterococcus

c) Staphylococcus

d) Lactococcus

e) Streptococcus

25) Which of the following is NOT an aerobic Gram-positive rod?

a) Bacillus

b) Listeria

c) Micrococcus

d) Turicella

e) Mycobacterium

26) Which of the following is Gram-positive?

a) Neisseria

b) Enterobacteriaceae

c) Helicobacter

d) Legionella

e) Thermophilic actinomycetes

27) Which of the following is aerobic?

a) Anaerococcus

b) Cardiobacterium

c) Peptostreptococcus

d) Bifidobacterium

e) Eubacterium

28) Which of the following would be unsusceptible to penicillin?

a) Mycoplasma (lacks cell wall)

b) Borrelia (causes Lyme disease)

c) Leptospira (causes yellow fever)

d) Chlamydia (sexually transmitted disease)

e) Rickettsia (causes Rocky Mountain spotted fever
29) Which of the following best describes the shape of Streptococcus pneumoniae, Moraxella catarrhalis, Neisseria gonorrhoeae, and Neisseria meningitidis?

a) Coccus

b) Bacillus

c) Spirillum

d) Diplococcus

e) Pleomorphic

30) Which of the following best describes the shape of nocardia and actinomyces (subfamily streptomyces produce about 70% of all known antibiotics)?

a) Coccus
b) Bacillus

c) Spirillum

d) Diplococcus

e) Filamentous

31) Hepatitis B is a virus that is capable of showing variable appearance. Which of the following terms best describes this?

a) Pleomorphic
b) Coccus

c) Diplococcus

d) Filamentous
e) Pseudococcus

32) Which of the following structures is used in determining if an organism will be Gram positive (G+) or Gram-negative (G-)?

a) Mitochondria

b) Flagella

c) Cell wall

d) Ribosomal structure

e) Chromosomes

33) Which of the following would be found in Gram-negative bacteria? (best answer)

a) Teichoic acids and lipoteichoic acids

b) Periplasmic space and LPS

c) Teichoic acids and porins

d) Teichoic acids, lipoteichoic acids, and porins

e) Periplasmic space, LPS, and porins
34) Which of the following best describes Gram-negative bacteria?

a) Thick layer of peptidoglycan and no outer membrane

b) Thick layer of peptidoglycan and an outer membrane

c) Thin layer of peptidoglycan and no outer membrane

d) Thin layer of peptidoglycan and an outer membrane
35) The peptidoglycan forms a meshlike layer around the cell, consisting of a polysaccharide polymer cross-linked by what kind of bonds?

a) Van der Waals

b) Peptide

c) Electrostatic

d) Sulfide

e) Hydrogen
36) Some G+, but never G-, bacteria form spores. These include members of the genera:

a) Bacillus and Clostridium
b) Staphylococcus and Streptococcus

c) Bacillus and Streptococcus

d) Clostridium and Staphylococcus

e) Bacillus and Staphylococcus

37) Which of the following is NOT true regarding spores?

a) They can allow bacteria to exist in suspended animation for centuries

b) It contains a high concentration of calcium bound to dipicolinic acid

c) It contains a complete copy of the chromosomes

d) It contains high concentrations of the essential proteins and ribosomes
e) It protects the DNA from intense heat, radiation, and attack by most enzymes
38) Which of the following is NOT a property of viruses?

a) Viruses are filterable agents

b) Viruses cannot make energy independently of a host cell

c) Viral genomes may be RNA or DNA but not both

d) Viral components must self-assemble

e) Viruses are living organisms

39) Which of the following is NOT a means of classification       (naming) of viruses?

a) Structure

b) Color

c) Biochemical characteristics

d) Disease caused

e) Means of transmission
40) What consists of a nucleic acid genome packaged into a protein coat (capsid) or a membrane (envelope)?

a) Virus

b) Virion

c) Bacteriophage

d) Capsomere

e) Pentamer

41) Which of the following is NOT solely a structure of enveloped viruses; being a structure of non-enveloped viruses as well?

a) Nucleocapsid

b) Lipid bilayer

c) Structural proteins

d) Glycoproteins
42)All of the following are DNA viruses EXCEPT:

a) Parvovirus

b) Papovavirus

c) Hepadnavirus

d) Adenovirus

e) Bunyavirus

43) All of the following are RNA viruses EXCEPT:

a) Orthomyxovirus

b) Paramyxovirus

c) Poxvirus

d) Rhabdovirus

e) Filovirus

44) Which of the following is enveloped (not a naked capsid)?

a) Herpesviridae

b) Polyoma viridae

c) Papilloma viridae

d) Parvoviridae

e) Adenoviridae

45) Which of the following has a naked capsid (not enveloped)?

a) Paramyxoviridae

b) Picornaviridae
c) Togaviridae

d) Flaviviridae

e) Orthomyxoviridae  
46) Which of the following would NOT be a sterilant, meant to destroy all microbes?

a) Ethylene oxide

b) UV radiation

c) Microwave radiation

d) Glutaraldehyde and peracetic acid

e) Hydrogen peroxide
47) Which of the following would NOT be an antiseptic agent, meant to safely reduce the number of microbes on skin surfaces?

          a) Alcohol

b) Iodophors

c) Chlorhexidine

d) Plasma gas
e) Triclosan
48) Helicobacter pylori is able to survive in the acidic environment of the human stomach by producing the enzyme urease. This is an example of which of the following?

a) Adhesion

b) Colonization

c) Invasion

d) Immune response inhibitor

e) Toxins
49) Which of the following describes the Gram reaction and morphology of Staphylococcus?

a) G- rods

b) G- cocci

c) G+ rods

d) G+ cocci

e) G- spirals
50) What is the most common reservoir site of S. aureus?

a) UG tract

b) Enteric

c) Lymphoid

d) Liver

e) Skin and mucous membranes
51) Which of the following is associated with Ritter syndrome in neonates, where it colonizes the cut umbilicus and releases ET-A,B systematically?

a) Staphylococcus aureus
b) Staphylococcus epidermidis

c) Staphylococcus saprophyticus

d) Viridans Streptococci

e) E. Coli
52) A sexually active woman develops dysuria, pyuria, and fever suggestive of urinary tract infection. Urine cultures show G+ bacteria in clusters that are catalase positive and coagulase negative. E. Coli is ruled out as a cause of the cystitis. Which of the following would be the most likely cause of the cystitis?

a) Viridans Streptococci

b) Streptococcus pyogenes

c) Staphylococcus aureus

d) Staphylococcus epidermidis

e) Staphylococcus saprophyticus
53) Which of the following tests would differentiate between Staphylococci and  Streptococci, where the former is positive and the later is negative?

a) Gram reaction

b) Bile esculin

c) Catalase

d) Coagulase

e) Optochin

54) Which of the following is NOT a classification schema used to identify Streptococci?

a) Teichoic acids
b) Hemolytic patterns

c) Biochemical (physiologic) properties

d) Serologic properties (Lancefield groupings)
55) Which of the following is alpha-hemolytic, Bacitracin resistant, Optochin resistant, and bile esculin negative?

a) S. pyogenes

b) S. agalactiae

c) S. pneumoniae

d) Enterococcus
56) Which of the following is beta-hemolytic, Bacitracin sensitive, Optochin resistant, and bile soluble?

a) S. pyogenes
b) S. agalactiae

c) S. pneumoniae

d) Enterococcus

57) Which of the following is alpha-hemolytic, Bacitracin resistant, Optochin sensitive, and bile esculin negative?

a) S. pyogenes

b) S. agalactiae

c) S. pneumoniae
d) Enterococcus

58) Which of the following is beta-hemolytic, Bacitracin resistant, Optichin resistant,positive for Hippurate hydrolysis, and positive for the CAMP reaction?

a) S. pyogenes

b) S. agalactiae
c) S. pneumoniae

d) Enterococcus

59) Which of the following groups of people is the mostly likely to acquire a Streptococcus agalactiae infection?

a) Elderly men

b) Elderly women

c) Teenage boys

d) Teenage girls

e) Neonates
60) The C-reactive protein (CRP) test is used to test for which of the following?

a) Decreased white blood cell count

b) Urinary tract infection

c) Sepsis

d) Inflammation
e) Impetigo

61) Which of the following is NOT a common disease caused by Enterococcus sp.?

a) Bacteremia

b) Endocarditis

c) Breast abscess

d) Urinary tract infection

e) Wound infection

62) Which of the following is NOT a common disease caused by Abiotrophia sp.?

a) Eye infection

b) Oral infection

c) Endocarditis

d) Urinary tract infection

e) Bacteremia
63) Which of the following is NOT a useful feature in identifying Listeria?

a) Facultative anaerobe coccobacilli often arranged in pairs

b) Only Gram-positive bacteria with an endotoxin
c) Motile at room temperature

d) -hemolytic (non-hemolytic)

e) Capable of growth in high-salt concentrations
64) Which of the following describes clinical diagnosis for Nocardiosis?

a) Weakly Gram-positive, beaded filaments, not acid fast, obligate anaerobe

b) Weakly Gram-negative, beaded filaments, weakly acid fast, obligate anaerobe

c) Weakly Gram-positive, beaded filaments, weakly acid fast, obligate anaerobe

d) Weakly Gram-negative, beaded filaments, weakly acid fast, obligate aerobe

e) Weakly Gram-positive, beaded filaments, weakly acid fast, obligate aerobe

65) Which of the following groups of people would be the least susceptible to Nocardiosis?

a) AIDS patients
b) HIV infected patients

c) Patients implanted with cardiac devices (e.g. Left Ventricular Assist Device)
d) Bone marrow transplant patients

e) Solid organ transplant patients

66) Which of the following describes bacteria that are acid-fast?

a) Are decolorized with acidic solutions

b) Are decolorized with basic solutions

c) Cannot be decolorized with acidic solutions
d) Cannot be decolorized with basic solutions

67) Which of the following is NOT true regarding Neisseria meningitidis?

a) Gram-negative

b) Diplococci

c) Does not oxidized maltose

d) Oxidizes glucose

e) Second common cause of community-acquired meningitis in adults

68) Which of the following sugar assimilation tests (production of acid by oxidation) would yield different results between Neisseria gonorrhea and Neisseria meningitidis?

a) Glucose

b) Dextrose

c) Fructose

d) Maltose

e) Galactose

69) Neisseria are oxidase positive bacteria. What media is used for isolation of Neisseria?

a) Chocolate (CHOC)

b) Thayer-Martin (TM)

c) Blood agar plate (BAP)

d) Bile Esculin agar (BEA)

e) MacConkey agar (MAC)

70) Chocolate agar (CHOC) is used to create which of the following agars?

a) Xylose-Lysine-Deoxycholate agar (XLD)

b) MacConkey agar (MAC)

c) Thayer-Martin (TM)

d) Bile Esculin agar (BEA)
e) Blood agar plate (BAP)
71) Which of the following virulence factors for Neisseria gonorrhoeae is the reason  penicillin is no longer used as the drug of choice for gonorrhea?

a) Pilin (protein)

b) -lactamase

c) Opa protein

d) Por protein

e) IgA1 protease 
72) Which of the following describes enteric bacteria?

a) Gram-positive cocci

b) Gram-negative cocci

c) Gram-positive rods

d) Gram-negative rods

e) Gram-positive spirals
73) What is the most prevalent Enterobacteriaceae found in central nervous system infections?

a) Escherichia

b) Klebsiella

c) Salmonella

d) Yersinia

e) Morganella

74) What is the most prevalent Enterobacteriaceae found in lower respiratory tract infections?

a) Escherichia

b) Klebsiella
c) Salmonella

d) Yersinia

e) Morganella

75) What is the most prevalent Enterobacteriaceae found in bloodstream infections?

a) Escherichia

b) Klebsiella

c) Salmonella

d) Yersinia

e) Morganella

76) What is the most prevalent Enterobacteriaceae found in gastrointestinal tract infections?

a) Escherichia

b) Klebsiella

c) Salmonella

d) Yersinia

e) Morganella

77) What is the most prevalent Enterobacteriaceae found in urinary tract infections?

a) Escherichia
b) Klebsiella

c) Salmonella

d) Yersinia

e) Morganella

78) Which of the following is oxidase positive?
a) E. coli

b) P. vulgaris

c) K. pneumoniae

d) Salmonella

e) Shigella

f) P. aeruginosa
79) Which of the following ferment lactose?

a) P. vulgaris, Salmonella, and Shigella

b) E. coli and K. pneumoniae

c) P. vulgaris and Salmonella

d) Shigella, E. coli, and P. vulgaris

e) P. aeruginosa only

80) Which of the following is identified in the laboratory based on production of indole?

a) E. coli
b) P. vulgaris

c) K. pneumoniae

d) Salmonella

e) Shigella

81) Which of the following is urease positive, produces hydrogen sulfide, and is motile?

a) E. coli

b) P. vulgaris
c) K. pneumoniae

d) Salmonella

e) Shigella

82) Which of the following is urease negative, produces hydrogen sulfide, and is motile?
a) E. coli

b) P. vulgaris

c) K. pneumoniae

d) Salmonella

e) Shigella

83) Which of the following does not produce hydrogen sulfide and is motile?

a) E. coli

b) P. vulgaris

c) K. pneumoniae
d) Salmonella

e) Shigella
84) Which of the following would NOT be caused by endotoxin?

a) Activation of complement

b) Release of cytokines

c) Phagocytotic inhibition
d) Thrombocytopenia

e) Fever and leukocytosis

85) Which of the following is a used by bacteria such as Yersinia, Salmonella, Shigella, enteropathogenic Escherichia, Pseudomonas, and Chlamydia to deliver their virulence factors into targeted eukaryotic cells, acting like a molecular syringe?

a) Endotoxin

b) Capsule

c) Type III secretion system

d) Antigenic phase variation

e) Sequestering of growth factors
86) Which of the following can be transmitted in raw milk along with the fecal-oral route?

a) Salmonella typhi

b) Salmonella enteritidis

c) Shigella dysenteriae

d) Yersinia enterocolitica

e) Yersinia pestis

87) Which of the following is commonly transmitted by uncooked chicken?

a) Salmonella typhi

b) Salmonella enteritidis

c) Shigella dysenteriae

d) Yersinia enterocolitica

e) Yersinia pestis

88) Aside from the presence of polar flagella, which of the following laboratory tests can differentiate Vibrionaceae from Enterobacteriaceae?

a) Oxidase reaction
b) Urease reaction

c) Glucose/Dextrose fermentation

d) Sucrose fermentation

e) Lactose reaction
89) Which of the following can help differentiate Campylobacter jejuni from Helicobacter pylori in the laboratory?

a) Gram reaction

b) Oxidase reaction

c) Catalase reaction

d) Urease reaction

e) Nitrate reduction
90) Which of the following is NOT true regarding Campylobacter?
a) Gram-negative rods

b) Low DNA guanosine plus cytosine base ration

c) Inability to ferment or oxidize carbohydreates

d) Microaerophilic growth requirements

e) Inability to grown on Campy agar
91) Which of the following is NOT true regarding the epidemiology of C. jejuni?

a) It is a zoonotic infection (cattle, dogs, domestic animals, etc.)

b) Improperly prepared poultry is a common source of human infections

c) Person-to-person spread is very common

d) The dose required to establish infection is high

e) Enteric infections most commonly seen in warm months

92) Which of the following is NOT one of the most common causes of diarrhea in the world?

a) ETEC

b) C. jejuni

c) Rotovirus

d) H. pylori
93) What disease may be confused with C. jejuni because Campylobacter is difficult to detect?

a) Crohn disease
b) Kawasaki disease

c) Hodgkin disease

d) Huntington disease

e) Alzheimer disease
94) Multiple factors contribute to the gastric inflammation, alteration of gastric acid production, and tissue destruction that are characteristic of H. pylori disease. The virulence factor Heat shock protein (HspB) enhances the expression of which of the

following?

a) Mucinase

b) Phospholipase

c) Catalase

d) Superoxide dismutase

e) Urease
95) Which of the following H. pylori virulence factors induces hypochlorhydria during acute infection by blocking secretion from parietal cells?
a) Urease

b) Heat shock protein

c) Acid-inhibitory protein
d) Flagella

e) Adhesins

96) Which of the following H. pylori virulence factors disrupt gastric mucus?

a) Urease

b) Mucinase

c) Phospholipase

d) Mucinase and phospholipase
e) Mucinase and urease

97) Which of the following H. pylori virulence factors prevent phagocytosis?

a) Superoxide dismutase

b) Phospholipase

c) Catalase

d) Phospholipase and catalase

e) Catalase and superoxide dismutase
98 ) Which of the following H. pylori virulence factors neutralizes gastric acids and stimulates production of inflammatory cytokines?

a) Acid-inhibitory protein

b) Urease

c) Adhesins

d) Mucinase

e) Catalase
99) Which of the following laboratory test for H. pylori is the diagnostic test of choice and measures antibody titers to document exposure to the bacteria?

a) Microscopy

b) Urease test

c) Antigen detection

d) Culture

e) Serology

100) Which of the following laboratory test for H. pylori requires a biopsy and identifies the bacteria if the result is positive?

a) Microscopy

b) Urease test

c) Antigen detection

d) Culture

e) Serology
101) Which of the following locations is the least likely for non-fermenters to exist?

a) High oxygen
b) Low oxygen

c) Plants

d) Soil

e) High moisture

102) Pseudomonas are ubiquitous organisms found in soil, decaying organic matter, vegetation, and water. Which of the following locations within the hospital environment would  Pseudomonas likely NOT be found?

a) Disinfectant solutions

b) Cut flowers

c) Oxygen tanks
d) Floor mops

e) Respiratory therapy equipment
103) Which of the following is NOT a featured used to identify P. aeruginosa?

a) Lactose non-fermenter

b) Oxidase negative
c) Glucose non-fermenter

d) Sweet grape-like odor

e) Beta hemolysis
104) Which of the following is NOT oxidase positive?
a) Vibrio

b) Psudomonas

c) Campylobacter

d) Heliobacter

e) Enterobacteriaceae
105) Which of the following best describes Haemophilus?
a) Gram-positive cocci

b) Gram-positive rods

c) Gram-negative cocci

d) Gram-negative rods

e) Gram-negative spirals

106) What are the growth factor requirements for Haemophilus on chocolate agar?

a) Hemin (Heme, X)

b) Nicotinamide adenine dinucleotide (NAD, V)

c) Heme and NAD (X and V)
d) Cysteine

e) Cysteine and heme (X)
107) Which of the following is NOT true for Pasteurella multocida?

a) Oxidase positive

b) Catalase positive

c) Gram-negative

d) Coccobacilli
108) Which of the following describes laboratory characteristics of Bordetella pertussis?

a) Oxidase positive, urease positive, non-motile, growth on sheep blood agar, no growth on MacConkey agar

b) Oxidase negative, urease negative, motile, no growth on sheep blood agar, no growth on MacConkey agar

c) Oxidase positive, urease negative, non-motile, no growth on sheep blood agar, no growth on MacConkey agar
d) Oxidase positive, urease negative, motile, growth on sheep blood agar, growth on MacConkey agar

e) Oxidase negative, urease negative, non-motile, growth on sheep blood agar,growth on MacConkey agar
109) Which of the following differentiates B. pertussis from both B. parapertussis and B. bronchiseptica?

a) Oxidase and urease

b) Urease and motility

c) Motility and growth on sheep blood agar
d) Urease and growth on sheep blood agar

e) Oxidase and motility
110) In B. pertussis infection, where is the number of organisms the highest?

a) CSF

b) GI tract

c) UG tract

d) Respiratory tract
e) Skin
111) Which of the following is NOT true (in general) for Clostridium?

a) Gram-negative

b) Bacilli shaped

c) Spore-forming

d) Obligate anaerobes

e) Unable to reduce sulfate to sulfite
112) Which of the following is associated with Pseudomembrane Colitis (PMC)?

a) C. difficile

b) C. perfingens

c) C. septicum

d) C. botulinum

e) C. tetani
113) What is the best description of the shape of Actinomyces?

a) Coccus

b) Bacillus

c) Spirillum

d) Diplococcus

e) Filamentous
114) Actinomyces grow ____ in culture and are facultatively anaerobic or strictly ____.

a) Quickly; Aerobic

b) Quickly; Anaerobic

c) Slowly; Aerobic

d) Slowly; Anaerobic
115) Comparing the two, Acinomyces ____ sulfur granules and Nocardia is ____.

a) Form; Acid-fast
b) Form; Not acid-fast

c) Does not form; Acid-fast

d) Does not form; Not acid-fast
116) Which of the following would lead to a clinical diagnosis for Actinomyces?

a) Gram-negative, beaded filaments, not acid fast, obligate anaerobe

b) Gram-positive, beaded filaments, not acid fast, obligate anaerobe
c) Gram-negative, rods, acid fast, obligate anaerobe

d) Gram-positive, rods, acid fast, obligate aerobe

e) Gram-negative, cocci, not acid fast, obligate anaerobe
117) Which of the following disease is often confused with actinomycosis?

a) Endocarditis

b) Herpes

c) Neoplasms

d) Osteomyelitis

e) Chagas disease
118) Which of the following is NOT a difficulty associated with laboratory diagnosis of anaerobic bacteria?

a) Contamination of sample with normal bacterial population

b) Drying of the sample causes significant bacterial loss

c) Slow growth of over two weeks causes delay

d) Staining is faint and irregular

e) Transport must be in oxygen free environment

119) Which of the following is NOT one of the most common anaerobes found in brain abscess infections?

a) B. fagillis
b) Prevotella

c) Porphyromonas

d) Fusobacterium

e) Peptostreptococcus

120) Which of the following is most commonly seen in intraabdominal infections and bacteremia?

a) B. fagillis

b) Prevotella

c) Porphyromonas

d) Fusobacterium

e) Peptostreptococcus
121) What growth media is used to help differentiate B. fragilis?

a) Chocolate (CHOC)

b) Thayer-Martin (TM)

c) Blood agar plate (BAP)

d) Bile Esculin agar (BEA)

e) MacConkey agar (MAC)

122) Bacteroides are the only Gram-negative bacteria without typical:

a) Capsule

b) Endotoxin
c) Adhesins

d) Catalase

e) Fimbriae
123) Which of the following tests is the most useful currently as an initial laboratory test, has about 65% sensitivity, and has specificity that cross-reacts to other organisms (e.g., Epstein-Barr virus, cytomegalovirus, adenovirus)?

a) Microscopy

b) Molecular diagnosis

c) Complement fixation

d) Enzyme immunoassays

e) Cold hemagglutination
124) Which of the following is NOT used for laboratory diagnosis of C. trachomatis?

a) Microscopy of Gram-negative rods with no peptidoglycan cell wall

b) Molecular amplification (e.g. PCR)

c) Cell culture using certain cell lines (e.g. nonciliated columnar, cuboidal)

d) Antigen test (e.g. ELISA, fluorescence)

e) Vaginal specimen cytology
125) C. trachomatis would iodine stain ____ and Giemsa 
stain ____.

a) Positive; Positive
b) Positive; Negative

c) Negative; Negative

d) Negative; Positive
126)Which of the following is NOT a virus?

a) Common cold

b) Ebola

c) Gastroenteritis

d) Malaria            
e) Rabies   
127)  All are true about Hepatitis B virus except : 

a. is a DNA virus 

b. the presence of e antigen indicates increased infectivity 

c. antibody to surface antigen usually appears within 2 weeks  
    of infection 

d. the carrier rate is about 0.1% in the UK 

e. is a recognized cause of liver cancer 

128) The following can be used to identify Staphylococcus aureus except: 

a. identification of Lancefield groups through serology 

b. phosphatase positivity 

c. coagulase positivity 

d. fermentation of mannitol 

e. golden appearance of colonies 
129) Following are  True statements about Actinomyces israeli except: 

a. it is a strict aerobe 

b. it is a bacteria 

c. it causes chronic canaliculitis 

d. it is usually sensitive to penicillin 

e. infection is associated with discharges containing yellow sulphur granules. 
130) With regard to Neisseria gonorrhoea which statement is not true : 

a. b. they ferment glucose and maltose 

b. they are oxidase positive 

c. they contain proteases which break down Ig A 

d. they are sensitive to silver nitrate 
131)one is not a stain useful for identifying fungus: 

a. . haematoxylin and eosin 

b. Gomori methanamine silver 

c. PAS (periodic acid-Schiff) 

d. Giemsa 

132)  Which of the following substances is not  used in Gram staining:
a. iodine 

b. crystal violet 

c. alcohol 

d. safranin 

e. congo red
133) The following is not  true about culture media for microbes: 

a. Lowensten-Jensen is used to isolate mycobateria 
b. thioglycolate broth allows aerobes & anaerobes to grow 
c. MacConkey agar prevents the growth of Gram  
    negative bacteria 
d. Sabouraud's culture is useful for culturing fungal  
    infection 
e. Thayer-Martin's media is used to isolate gonococcus
 134)With regard to Staphylococcus aureus  which one is not true: 

a. is sensitive to fusidic acid 

b. is resistant to phagocytosis by neutrophils 

c. produces exotoxins 

d. is the most common cause of carbuncle 

e. phage type I and II are the commonest cause of boils 

135) The following can be used to identify Staphylococcus aureus EXCEPT:
a. identification of Lancefield groups through serology 

b. phosphatase positivity 

c. coagulase positivity 

d. fermentation of mannitol 

e. golden appearance of colonies 

136) The following are  True statements about Actinomyces israeli EXCEPT: 

a. it is a strict anaerobe 

b. it is a bacteria 

c. it causes chronic gas gangrene  

d. it is usually sensitive to penicillin 

e. infection is associated with discharges containing yellow sulphur granules. 

137) Hepatitis B virus, which is not true about it: 

a. is a DNA virus 

b. the presence of e antigen indicates increased infectivity 

c. antibody to surface antigen usually appears within 2 weeks  
    of infection 

d. the carrier rate is about 0.1% in the UK 

e. is a recognized cause of liver cancer 
138) With regard to Neisseria gonorrhoea which  statement is not true: 

a. they are Gram negative aerobic cocci 

b. they ferment glucose and maltose 

c. they are oxidase positive 

d. they contain proteases which break down Ig A 

e. they are sensitive to silver nitrate 

139) following Stains are useful for identifying fungus but not: 

a. Giemsa

b. haematoxylin and eosin 

c. Gomori methanamine silver 

d. PAS (periodic acid-Schiff) 

140) The following are true about disinfectants that can be used effectively for skin EXCEPT: 

a.  chloramphenicol drops 

b. chlorhexidine 

c. ethyl alcohol with povidone-iodine 

d. ethylene oxide 

141). Micro-organisms that can cause latent infection include: 

a. Mycobacterium tuberculosis 

b. varicella-zoster virus 

c. cytomegalovirus (CMV) 

d. hepatitis A 

e. chlamydia trachoma 

 142) Which of the following staphylococci is coagulase positive: 

a. S. aureus 

b. S. epidermidis 

c. S. intermedius 

d. S. hyicus 

e. S. haemolyticus
143)All  True statements about Staphylococcus EXCEPT : 

a. they belong to the bacterial family Micrococcaceae 

b. only coagulase positive species cause human diseases 

c. they are oxidase negative 

d. they are all catalase positive 

e. the cells are about 1 micrometer in diameter  

144) The following are true about Staphylococus aureus EXCEPT: 

a. under microscope they appears as diplococci 

b. they form yellow colony 

c. they are found in the nasal passage of normal population 

d. they cause haemolysis on blood agar 

e. they are often coagulase positive 

145) False  statement about Staphylococcus epidermidis: 

a. they form white colony 

b. they cause haemolysis on blood agar 

c. they form the normal flora on human skin 

d. they are often coagulase negative  

e. in hospital environment, they can become pathogen 

146) The following features can distinguish Staphylococcus from  Streptococcus EXCEPT: 

a. Staphylococcus is Gram positive whereas  Streptococcus is Gram        negative    
b. Staphylococcus has round cell whereas Streptococcus  has slightly oblong cell. 

c. Staphylococcus is catalase positive whereas   Streptococcus is catalase negative 

d. Staphylococcus appears as clusters under microscope  whereas Streptococcus appears as long chain 

e. Staphylococcus divides in two planes whereas  Streptococcus divides in one plane only 
147) All Enterobacteriaceae share all of the following characteristics EXCEPT:
A. Ferment glucose
B. Reduce nitrates to nitrites
C. Oxidase positive
D. Gram negative
E. Rod-shaped (bacilli)

148) This urinary pathogen "swarms" across agar surfaces and may cause bladder and renal calculi (stones).
A. Citrobacter freundii
B. Enterobacter aerogenes
C. Serratia marcescens
D. Klebsiella oxytoca
E. Proteus mirabilis

149) Characteristics of a bacterial capsule   include:
A. All bacteria have one
B. It is composed of peptidoglycan
C. It is an important mechanism for protecting a bacteria against ingestion by PMNs
D. It is what causes the gram stain reaction

150) On the same day the clinical laboratory identifies two strains of the same bacterial species. One of these strains has pili on the surface; the other does not. In terms of the clinical status of the two patients it is likely that:
A. The patient with the piliated strain is ill, the other patient is not
B. The patient with the piliated strain is not ill, the other patient is
C. Both patients are ill since pili do not correlate with virulence
D. The patient with the piliated strain is a child, the other patient is an adult
151) Specific organisms that are considered strict anaerobes include:
A. E. coli and Streptococcus pneumoniae
B. Bacteroides and Klebsiella
C. Fusobacterium and Clostridium
D. Peptostreptococcus and Nocardia

152) Nonfermentative gram negative bacilli are:
A. Strict aerobes
B. Catalase negative
C. Beta-hemolytic on sheep blood agar
D. Spore forming

153) You receive a urine culture report from the laboratory on a 45 year old patient who is a quadriplegic with an indwelling urinary tract catheter. The urine culture is growing >100,000 oxidase positive gram negative bacilli. The most likely organism is:   
A. E. coli
B. Enterococcus
C. Klebsiella
D. Pseudomonas aeruginosa

154) Which of the following pathogens is unlikely to be a cause of nongonococcal urethritis?
A. Ureaplasma urealyticum
B. Chlamydia trachomatis
C. Mycoplasma hominis
D. Mycoplasma genitalium
E. Chlamydia pneumoniae

155) Which of the following statements regarding mycoplasmas is NOT correct?
A. Mycoplasmas are the smallest free-living micro-organisms.
B. Mycoplasmas are resistant to cell wall active antibiotics.
C. Mycoplasmas are common commensals of the respiratory and 
      urogenital tracts.
D. Mycoplasmas stain well with the Gram's stain.
E. Mycoplasmas grow slowly on enriched media.

156) Which of the following pathogens causes invasive joint disease in immuno-compromised hosts?
A. Mycoplasma pneumoniae
B. Mycoplasma hominis
C. Ureaplasma urealyticum
D. Chlamydia pneumoniae
E. None of the above

157) Which of the following are characteristics that are shared by Mycoplasma hominis and Ureaplasma urealyticum?
A. Both cause post-partum fever.
B. Ampicillin would be a reasonable choice for treatment.
C. Both organisms are identified by production of urease.
D. Both stimulate production of cold agglutinins.
E. Both organisms grow well on sheep blood agar.

158) The major virulence factor of Haemophilus influenzae type b is:
A. Its surface pili
B. Its surface polysaccharides
C. Its cell wall
D. Its cell membrane
159) Important in the laboratory detection of Haemophilus influenzae is that it is:

A. Beta hemolytic on sheep blood agar
B. Catalase positive
C. Anaerobic
D. Fastidious
160) A common characteristic of Legionella species is that they:
A. Are gram positive rods
B. Are acid fast
C. Require supplemental ingredients to grow them in laboratory media
D. Are extracellular pathogens
161) Most humans become infected with legionella by:
A. A water source
B. By tick exposure
C. By mosquito exposure
D. By direct contact with another person who is infected

162) An important characteristic of mycobacteria is that they are:
A. Gram negative
B. Rapid growing (doubling time 15 minutes)
C. Acid fast
D. Alpha hemolytic
163) The Gram stain differentiates between bacteria based on the composition of their 

A. Cell Membrane

B. Nucleus

C. Cell Wall

D. Mitochondria
164) What colour do Gram positive and Gram negative bacteria take; respectively?

A. Pink and Purple

B. Purple and Pink

C. Orange and Yellow

D. Yellow and Orange
165)Which of these factors will not affect your Gram stain results? (Given that everything else is done correctly.)
A. Sample Thickness
B. Reagent Quality

C. Bacterial Age

D. Excessive Washing of Slide
166)Before you use your reagents to stain the bacteria, you need to heat fix your sample first by waving the slide through the blue flame on a bunsen burner a few times. Why do you do this?

A. So that the bacteria will perform a musical number for your enjoyment

B. So that the bacteria will react to the stain

C. So that the bacteria will not be washed off

D. So that the bacteria will not die
167)_______ is the first reagent used in the stain. You have to wait 30 seconds before tipping it off and washing your slide with water.

A. Neutral Red

B. Alcohol

C. Crystal Violet

D. Iodine
168) _______ is the second reagent used in the stain. You have to wait 30 seconds before tipping it off and washing your slide with water.

A. Crystal Violet

B. Iodine

C. Alcohol

D. Neutral Red
169) _______ is the third reagent used in the stain. Using a squirt bottle, you 'wash' the slide until the liquid coming off changes from purple to clear. Wash your slide with water afterwards.

A. Neutral Red

B. Crystal Violet

C. Alcohol

D. Iodine
170)_______ is the fourth, and final, reagent used in the stain. You have to wait 10-30 seconds before tipping it off and washing your slide with water. Pat it dry with some paper towel and you are finished.
A. Crystal Violet

B. Iodine

C. Alcohol

D. Neutral Red
171) What is the role of crystal violet in the performance of a gram stain?

A. stain

B. decolorizer

C. mordant

D. counter stain
172) Which of the following is a gram negative rod?

A. Neisseria lactamica

B. Staphylococcus aureus

C. Klebsiella pneumoniae

D. Listeria monocytogenes
173)Which of the following is associated with cat bites?

A. Streptococcus pneumoniae

B. Escherichia coli

C. Pasteurella multocida

D. Neisseria meningitides
174) Which organism causes a sexually transmitted disease?
A. Serratia marcescens

B. Streptococcus pyogenes

C. Neisseria gonorrhoeae

D. Escherichia coli
175)Which organism is the causative agent of bubonic plague?

A. Yersinia enterocolitica

B. Yersinia pestis

C. Burkholderia cepacia

D. Pseudomonas aeruginosa
176)This gram positive rod causes a disease associated with eating contaminated food products. The elderly, newborns, pregnant women, and those with weakened immune systems are particularly at risk.

A. Listeria monocytogenes

B. Clostridium tetani

C. Clostridium botulinum

D. Lactobacillus
177)Which organism is the most common causative agent of urinary tract infections?

A. Staphylococcus saprophyticus

B. Escherichia coli

C. Enterococcus faecalis

D. Pseudomonas aeruginosa
178)Which of these is used as a mordant in the Gram stain?

A. alcohol

B. safranin

C. crystal violet

D. iodine
179)Which is least likely to kill bacteria?

A. extreme heat

B. extreme cold

C. extreme acidity

D. extreme alkalinity
180)The following are causes of gas gangrene in man EXCEPT
A. Clostridium histolyticum
B. Clostridium septicum
C. Clostridium novyi
D. Clostridium sporogenes
E. Clostridium perfringens
181) The antistreptolysin O titre is raised in infections caused by 

A. Streptococcus sanguis
B. Streptococcus pneumoniae
C. Streptococcus pyogenes
D. Streptococcus bovis
E. Streptococcus mutans
182) A specific test used for serodiagnosis of syphilis is:

a- Wasserman test.
b- VDRL test.
c- Fluorescent treponemal antibody absorption test (FTA-ABS).
d- Khan’s test.
e- Rapid plasma regain test (RPR).

183)- The best specimen for investigation of urogenital T.B is:
a- Mid stream urine.
b- Urine collected any time.
c- Whole early morning urine.
d- Urine collected over 24 hours.

184)- Alpha-hemolysis is caused by:

a- Viridans streptococci.
b- Enterococci.
c- Pneumococci.
d- Streptococcus pyogens.
185) Osteomyelitis in patients with sickle cell anaemia is usually associated with infection by:

a- Escherichia coli.
b- Salmonella cholerasuis.
c- Streptococcus viridance.
d- Pseudomonas aeruginosa.

186) A urine sample collected by suprapubic puncture from a healthy individual will contain:

a- A normal flora as Staph. Epidermidis.
b- Opportunistic pathogens as E. coli.
c- Nonpathogenic diphtheroids of the urethra.
d- No microorganisms
187) Over 95% of the normal flora of the faeces consists of:

a- Escherichia coli.
b- Bacteroids.
c- Streptococcus faecalis.
d- Enterobacter.

188) Only 3-4% of the normal intestinal flora are species of:
a- Escherichis.
b- Enterobacter.
c- Pseudomonas.
d- Bacteroids.

189) Q fever is different from other rickettaial infections by all the following EXCEPT:

a- Is not associated with skin rash.
b- Transmitted mainly by a vector.
c- Transmitted by inhalation.
d- Is stable outside the host cell.
e- Does not give a weil-felix reaction.

190) A culture of skin lesions from a patient with pyoderma shows numerous colonies surrounded by a zone of ƒز-hemolysis on a blood agar plate. A gram stain smear show gram positive cocci. If you found the catalase test to be negative, what would you determine?

a- The bacteria are staphylococci.
b- The bacteria are streptococci.
c- The bacteria are pneumococci.
d- The bacteria are neither streptococci nor staphylococci.
e- The bacteria are E. coli.

191) Staphylococcus epideridis is the etiological factor of:

a- Urinary tract infection among children & elderly males.
b- Enteritis.
c- Osteomylitis.
d- Pneumonia.
e- Acute bacterial endocarditis.

192) Of the organisms listed below, which one is the most frequent bacteria cause of pharyngitis:

a- Streptococcus pneumonia.
b- Corynebacterium diphtheria.
c- staphylococcus aureus.
d- Streptococcus pyogens.
e- Haemophilus influenzae.
193) The pneumococcus:

a- Usually occur in chains.
b- Is a spore forming organism.
c- Is motile with one terminal flagellum.
d- Capsules are produced by virulent forms.
e- Grows best in a markedly acid PH.

194) A positive schick test indicates that the person is:

a- Susceptible to diphtheria.
b- Hypersensitive to diphtheria toxin.
c- Resistant to diphtheria.
d- Suffering from clinical diphtheria.
e- Need to take the vaccine.

195) Which of the following is NOT a systemic mycosis:

a- Blastomycosis.
b- Coccidioidmycosis.
c- Tinea pedis.
d- Histoplasmosis.
e- Cryptococcosis.

196) Conversion from negative to positive tuberculin reaction is indication of:

a- Activation of an old tuberculous focus.
b- Complete cure of tuberculosis.
c- Recent exposure to M. tuberculosis.
d- Loss of sensitivity to tuberculin.

197) The organism capable of spore formation is:

a- Staphylococcus aureus.
b- Streptococcus pyogens.
c- Clostridium tetani.
d- Streptococcus pneumoniae.
198) Proteus does NOT cause:

a- Fermentation of lactose.
b- Swarming growth.
c- Urinary tract infection.
d- Chronic otitis media.

199) The most common cause of neonatal meningitis is:

a- Escherichia coli.
b- Haemophilus influenzae.
c- Neisseria meningitides.
d- Streptococcus faecalis.

200) The rickettsiae are considered as:

a- Yeast.
b- Fungi.
c- Viruses.
d- Bacteria.
e- None of the above.

201) Best specimen for diagnosis of brucellosis in human include:

a- Blood culture.
b- Sputum.
c- C.S.F.
d- Urine.
e- Faeces.

201) Obligate anaerobes:

a- Can live in presence of free oxygen.
b- Require minute amount of free oxygen.
c- Can live in presence or absence of free oxygen.
d- Can live only in absence of free oxygen.
e- Can live in presence of free CO2.
202) Haemophilus ducreyi is the causative agent of:

a- Syphilis.
b- Hard chancre.
c- Chancroid (soft chancre).
d- Lymphogranuloma venereum.
e- Lymphogranuloma injuinale.

203) Differntiation of streptococcus pneumoniae from other hemolytic streptococci is done by:

a- Bile solubility test.
b- Optochin sensitivity test.
c- Inulin fermentation.
d- All of the above.

204) Urinary tract infection may be caused by the following EXCEPT:

a- Escherichia coli.
b- Staphylococcus saprophyticus.
c- Klebsiella spp.
d- Streptococcus viridans.
e- Proteus mirabilis.

205) Bordetella pertussis:

a- Produce a capsule when virulent.
b- May be stained directly from patient’s specimen with fluorescent labeled antibody.
c- Requires only x-factor for growth.
d- Does not require either x or v factor for growth.

206) Burn infection is often associated with:

a- Pseudomonas aeruginosa.
b- Mycoplasma pneumoniae.
c- Corynebacterium diphtheriae.
d- Haemophilus influenzae.
e- Salmonalla.
207) Motility of bacteria:

a- Is a property of cocci.
b- Is achieved only by bacterial flagella.
c- Is aided by presence of pili.
d- occurs in all spiral bacteria.

208) All are correct about psittacosis EXCEPT:

a- Is obligate intracellular parasite.
b- Human usually contact the disease from infected birds.
c- Produce atypical pneumonia.
d- Is easily treated with sulfonamide.
e- Is a chlamydial disease caused by Chlamydia psittaci
209) The best laboratory evedince of potential pathogenicity of a staphylococcus is production of:

a- Pigment.
b- Catalase.
c- Coagulase.
d- DNAse.
210) A high ASO titer indicated recent infection by streptococcus:

a- Viridance.
b- Pyogenes.
c- Faecalis.
d- Agalactae.

211) Weil-felix reaction is negative in:

a- Epidemic typhus.
b- Scrub typhus.
c- Rocky mountain spotted fever.
d- Endemic typhus.
e- Q fever.
212) A positive tuberculin test means that the person has:

a- Delayed hypersensitivity to tubercle bacilli.
b- No infection with tubercle bacilli at all.
C- Circulating antibodies.
d- Increased susceptibility to infection.

213) Bordetella species produce infection of:

a- Blood.
b- Urinary tract.
c- Respiratory tract.
d- Gastrointestinal tract.

214) Thayer-Martin medium is suitable for transporting:

a- Staphylococci.
b- Pneumococci.
c- Meningococci.
d- Haemophilus.

215) Rickettsia best grow on:

a- Blood agar.
b- Liquid medium.
c- Yolk sac of chick embryos.
d- Special media supplemented with 20% horse serum.

216) One is false about staphylococcus epidermidis:

a- A common cause of food poisoning.
b- Coagulase negative.
c- Normal skin flora.
d- A common cause of prosthetic heart valve infection.

217) The serologic grouping of alpha-hemolytic streptococci depends on:

a- C-carbohydrate.
b- M-protein.
c- T-protein.
d- Teichoic acid.

218) Neisseria gonorrhea can be differentiated from N. meningitis by:

a- Glucose fermentation.
b- Maltose fermentation.
c- Nitrate reduction.
d- Oxidase reaction.

219) Which one of the following is always of clinical significance when present in sputum:

a- Escherichia coli.
b- Salmonella typhi.
c- Bacillus anthracis.
d- Shigella flexneri.

220) The most effective method of sterilization is:

a- Hot air.
b- Inspissation.
c- Tyndallization.
d Steam under pressure
221) E. Coli cause the following diseases EXCEPT:
a. Neonatal meningitis
b. Septicacemia
c. Gastroenteritis
d. Urinary tract Infection
e. Toxic shock syndrome
222) One is FALSE about bordetella pertusis:
a. Cause whooping cough
b. Maybe stained directly from patient’s specimen with fluorescent labeled antibody.
c. Require only X-factor for growth
d. Does not require either X- or V- factor for growth
e. Is a short coccobacilli
223) Rickttsia can be characterized by all of the following EXCEPT:
a. Obligate intracellular parasites
b. Small rods or cocci
c. Is best treated with sulfonamide
d. Having typical bacterial cell wall
e. Transmitted by vectors

224) All of the following is true about bacillus cereus EXCEPT:
a. They grow aerobically
b. They are spore forming
c. They are gram-positive
d. They are found in the soil
e. They produce one distinct clinical forms

225) Neisseria Meningitidis is:
a. Transmitted by ingestion
b. A causative agent of neonatal meningitis
c. Carried in the nasopharynx by some healthy people
d. Isolated from urine of patients suffering from meningitis
e. All of the above

226) The mechanical method for exclusion of bacteria from biological fluids is referred to as:
a. Filtration
b. Radiation
c. Autoclaving
d. Incineration
e. Pasteurization

227) A dimorphous fungus is the one that:
a. Produce arthro spores and chlamydospores
b. Invade hair and skin
c. Can grow as yeast and as mold
d. Reproduce both sexually and asexually
e. None of the above

228) Rocky mountain spotted fever is usually transmitted to man by:
a. Ticks
b. Mites
c. Lice
d. Fleas
e. Mosquitoes

229) All are true about hyaluronidase EXCEPT:
a. Depolymerizes Hyaluronic acid
b. Spreading factor
c. Excreted by group A streptococci
d. Has some role in production of the disease
e. Promotes lysis of fibrin blood clots

230) Killing bacteria by protein denaturation is to referred to as:
a. Moist heat
b. Direct flame
c. Radiation
d. Filtration
e. Incineration
231) All of the following are associated with mycoplasmas EXCEPT:
a. Lack a rigid cell wall
b. Stain well with giemsa stain
c. Are resistant to penicillin
d. Cannot be cultured on artificial media
e. Produce atypical pneumonia
232) Which of the following rickettsial disease is acquired primarily by inhalation:
a. Rickettsial pox
b. Endemic typhus
c. Rocky mountain spotted fever
d. Q. Fever
e. Epidemic typhus

233) All are correct about Trachoma EXCEPT:
a. Can be treated with sulfonamide and tetracycline
b. Can occur in animal
c. Caused by chlamdiae
d. A disease limited to human
e. Is a chronic kertao-conjuctivitis

234) The following is true for Psittacosis EXCEPT:
a. Is a systemic infection of birds
b. Is caused by Chlamydia organize
c. The major source of infection is by eating infected meat of birds
d. Tetracycline is the drug of choice for its treatment
e. The causative organism cannot be isolated on artificial media

235) What is the most common causative agent of primary atypical pneumonia:
a. Klebsiella pneumonia
b. Mycoplasma pneumonia
c. Staphylococcus aureus
d. Diplococcus pneumonia
e. Streptococcus pyogenes

236) Urinary tract infection is not caused by:
a. Escherichia coli
b. Klebsiella pneumonia
c. Psudomonas aeruginosa
d. Proteus mirabilis
e. Shigella dysentriae

237) All of the following statements about the actiomycetes are true EXCEPT:
a. They are gram positive
b. They can occur normally in the oral cavity
c. They possess branched mycelia
d. Sulfonamide is the drug of choice
e. They actually are filamentous bacteria
238) Mycobacterium tuberculosis has the following character:
a. Produce B-hemolysis on blood agar
b. It is a photochromogen
c. The cell wall has low concentration of lipid
d. Colonies require 3-6 weeks to appear
e. It is stained easily by gram-stain

239) The man is the only host for:
a. Shigella flexneri
b. Salmonella entertidis
c. Complyobacter faetus
d. Brucella abortus
e. Yersinia pestis

240) Prophylaxis against tuberculosis is achieved by:
a. Killed mycobacterium bacilli
b. B.C.G vaccine
c. Purified protein derivative
d. Serum from tuberculous patients
e. Penicillin

241) Corynebacterium diphtheria is transmitted by:
a. Ingestion
b. sexual Intercourse
c. Inhalation
d. An insect vector
e. None of the above

242) The optimum concentration of alcohol used as a disinfectant is:
a. 100%
b. 95%
c. 70%
d. 50%
e. 45%
243) The following is true for fimbriae EXCEPT that they are:
a. Long filamentous structure
b. Important for adherence
c. Important for virulence
d. Presence on gram negative bacteria
e. Originating from the cytoplasmic membrane

244) Which of the following is not a serologic test for syphilis:
a. Frei test
b. Fluorescent antibody test
c. VDRL test
d. TPI test
e. Wasserman test

245) All the following are characteristics of Pseudomonas aeurginosa EXCEPT:
a. An opportunistic pathogen
b. A causative agent of urinary tract infection
c. A causative agent of burn infection
d. A primary pathogen
e. A causative agent of eye infection

246) Flagella:
a. Another name of pilli
b. Organ of motility
c. Contain metachromatic granules
d. Non antigenic
e. Can be seen by gram stain

247) Acid fast genus other than T.B. is:
a. Actinomyces
b. Nocardia
c. Aspergillias
d. Corynebacteria
e. Histoplasma
248) Transfer of genetic information of DNA to RNA is called:
a. Transduction
b. Transcription
c. Transformation
d. Recombination
e. Conjugation

249) One is FALSE about brucellosis:
a. Infection is acquired only by ingestion
b. Can be diagnosed by blood culture
c. It is zoonosis
d. Infection may be acquired through the conjuctiva
e. Infection may be acquired through the skin

250) Black death is caused by:
a. Brucella suis
b. Brucella abortus
c. Yersinia Pestis
d. Francisella tularensis
e. Pasterurella multocida

251) The following disease is NOT a toxemia:
a. Scarlet fever
b. Tetanus
c. Plague
d. Diphtheria
e. Botulism
252) Fleas serve as vector for:
a. Brill’s zinser disease
b. Epidemic typhus
c. Q.Fever
d. Endemic typhus
e. Rickettsial pox

253) Each of the following concerning bacteriodes melaninogenicus is correct EXCEPT:
a. It is gram-negative rods, non-motile
b. Normal flora of the oropharynx
c. Is found in pulmonary abscess
d. Forms endo-spores which allow it to survive in soils
e. Produces brownish pigament on blood agar

254) Excess iron in the culture medium of toxigenic diphtheria decreases the production of toxin because iron inhibit:
a. Intracelluar replication of phage B
b. Expression of toxin locus on phage DNA (phage tox gene)
c. Growth of bacterial cell
d. Replication phage B
e. Metabolic activity of the organism

255) Listeria monocytogenes is:
a. A non motile gram positive bacilli
b. Easily isolated on ordinary medium
c. A strict human Rarazite
d. A common cause of meningitis in renal transplant recipients.
e. Not transmitted even by pasteurized milk

256) Clostridium perfringens type A food poisoning:
a. Is associated with consumption of contaminated milk
b. The toxin is produced only when the vegetative cells sporulate
c. The toxin is produced only when the spores germinate
d. Is accompanied by nervous symptoms and no diarrhea
e. Is produced by heat-stable enterotoxin
257) Immunity against tetanus:
a. Is directed only against the exotoxin
b. Depends on spore formation
c. Is only of the active type
d. Does not exist
e. Is directed only against the organism itself
258) Plasmid encode for:
a. Resistant factor
b. Flagella
c. Capsule formation
d. Spore formation

259) The most satisfactory medium for isolation of fungi is:
a. Nutrient agar
b. Sabouraud’s dextrose agar
c. Chocolate agar
d. Loeffler’s serum
e. MacConkey agar

260) The following diseases are due to toxemia EXCEPT:
a. Diphtheria
b. Botulism
c. Scalded Skin Syndrome
d. Tetanus
e. Syphilis

261) Ordinary milk pasteurization may NOT always eliminate all of EXCEPT:
a. Corynebacterium diphtheria
b. Streptococcus pyogens
c. Coxiella burnetri
d. Myobacterium tuberculosis
e. Staphylococcus aureus
262) The following disease is NOT a septicemia:
a. Subacute bacterial endocarditis
b. Diphtheria
c. Plague
d. Puerperal sepsis
e. Enteric fever
263) Aseptic Meningitis is caused by:
a. Mycobacterium tuberculosis
b. Haemophilus influenza
c. Virus infection
d. Neisseria meningitidis
e. Escherichia Coli

264) Which of the following is always of clinical significance when present in sputum smear:
a. Gram postitive cocci
b. Gram negative coccobacilli
c. Acid alcohol fast bacilli
d. Candida
e. Gram negative bacilli

265) One is FALSE for Listeria Monocytogenes:
a. Gram positive
b. Facultative anaerobe
c. Non-motile
d. Small bacillus

266) Pathogenicity of staphylococci is determined by production of:
a. Haemolysin
b. Pigment
c. Coagulase
d. Catalase
267) Anthrax is:
a. Zoonotic
b. A disease only of animals
c. A disease only of man
d. Causing an epizootic in rodents
268) The following organism does not circulate in the blood:
a. Anthrax bacillus
b. Pneumococcus
c. Yersinia Pestis
d. Corynebacterium diphtheriae

269) Disinfection is:
a. A process that is intended to kill or remove microorganism with the exception of bacterial spore
b. A prevention of infection by topical application
c. Inability of living organism to reproduce
d. A death of microorganism as indicated by their failure to multiply

270) All of the following are true about agar except it
A. liquefies at 100°C.

B. is a polysaccharide derived from a red alga.

C. Solidifies at approximately 40°C.

D. is metabolized by many bacteria.

E. facilitates obtaining pure cultures.

271) Which of the following is not a gram-negative bug? 

A. Clostridium perfringens 
B. Vibrio cholerae 
C. Escherichia coli 
D. Bordetella pertussis 

272) Which of the following microorganisms stain well? 

A. Escherichia coli 
B. Legionella pneumophila 
C. Treponema 
D. Chlamydia 

273) Which of the following microorganisms are not matched correctly with the appropriate isolation media? 

A. Fungi - Sabourand's agar 
B. Neisseria gonorrhoeae – Pink colonies media 
C. Haemophilus influenzae – Chocolate agar 
D. Mycobacterium tuberculosis - Lowenstein-Jensen agar 

274) Which of the following diseases and bacteria are matched up incorrectly? 

A. Cellulitis – Pasteurella multocida 
B. Tularemia – Francisella tularensis 
C. Gastritis – Heliobacter pylori 
D. Lyme disease – Yersinia pestis 

275) Which of the following diseases and bacteria are matched up incorrectly? 

A. Treponema pallidum – Syphilis 
B. Tinea nigra – Cladosporium werneckii 
C. Borrelia burgdorferi – Lyme disease 
D. Yersinia enterocolitica – Diptheria 

276) Which of the following is not true concerning Staphylococcus aureus? 

A. S. aureus is related to inflammation. 
B. S. aureus can cause pneumonia 
C. S. aureus can lead to acute bacterial endocarditis 
D. S. aureus does not make coagulase 

277)A urine sediment shows 50-100 RBC/HPF, but the dipstick test is negative for blood. Which of the following is a POSSIBLE cause for these results? 
a. Alkaline pH 

b. Large amount of ascorbic acid 

c. Low specific gravity 

d. Urine left at room temperature for several hours 
278) All of the peripheral blood films made by a certain clinical laboratory technician are very thin and cover the entire length of the slide. Which of the following is a likely cause? 

a. The drop of blood is too large. 

b. The spreader slide is dirty. 

c. The angle of the spreader slide is too low. 

d, The speed of spreading is too fast. 

279) A laboratory?s Wright-stained blood smears have recently been too pink in color. Which of the following should the clinical laboratory scientist do to correct this situation? 

a. Make all blood smears thinner. 

b. Increase the methanol content of the stain. 

c. Shorten the staining (buffer) time. 

d. Make the buffer more alkaline. 

280) All Enterobacteriaceae share all of the following characteristics EXCEPT:
A. Ferment glucose
B. Reduce nitrates to nitrites
C. Oxidase positive
D. Gram negative
E. Rod-shaped (bacilli)

281)A Gram negative cocci which is oxidase positive, fastidious, and utilizes glucose only is:

A. Neisseria lactamica
B. Neisseria gonorrhoeae
C. Staphylococcus epidermidis
D. Neisseria meningitides

282)A positive oxidase test is indicated by:

A. Bubbling colonies
B. Dissolved colonies
C. Black media
D. Black colonies

283)All of the following are factors which determine how a disinfectant works EXCEPT:

A. Where it is prepared
B. Time of exposure
C. Nature of material
D. Concentration

284)When reviewing the Quality Control results for Kirby-Bauer sensitivity tests, the Technician notices that the zones are too small. This is probably due to the use of:

A. gar which is too acidic
B. Agar medium is too thin
C. Too light an inoculum
D. Too heavy an inoculum

285)When examining primary plating media, you observe a fluffy, cottony colony. You would suspect a:

A. Mold
B. Trophozoite
C. Yeast
D. Cyst

286)When examining a Gram stained smear, you note the presence of many lymphocytes. This is probably a result of the:

A. Immune response
B. Inflammatory response
C. Primary response
D. Secondary response
287)A Gram-negative rod produces a yellow butt and red slant on LIA agar. This result indicates that the organism:

A. Produces urease
B. Deaminates lysine
C. Decarboxylates lysine
D. Produces phenylpyruvic acid

288)The reaction on urea agar depends on the organisms ability to split urea forming:

A. An amine
B. Acetylmethylcarbinol
C. Phenylpyruvic acid
D. Ammonia

289)When performing the nitrate reduction test, you observe a red color development after the addition of zinc dust. This result indicates:

A. Nitrite was reduced to nitrate
B. Nitrate was reduced to nitrogen gas
C. The presence of unreduced nitrate
D. Nitrate was reduced to nitrite

290)When examining a routine throat culture for a potential pathogen, one looks for:

A. Gamma-hemolytic colonies
B. Beta-hemolytic colonies
C. Alpha-hemolytic colonies
D. Delta-hemolytic colonies
291)A physician has sent a sputum specimen to the laboratory. The Gram stain shows many Gram-positive cocci in chains and pairs. Many small alpha-hemolytic colonies are seen on the primary medium. It is not clear, however, whether the organisms are potential pathogens. Which of the following tests would make this differentiation?

A. Esculin hydrolysis
B. Bacitracin susceptibility
C. Catalase
D. Optochin
292)A urine specimen is received in the laboratory. It is inoculated onto the appropriate media using a calibrated loop (.001). After overnight incubation, 75 colonies are observed on the plate. This result would be reported as:

A. Gross contamination
B. <10,000 CFU/ml.
C. 75,000 CFU/ml.
D. >100,000 CFU/ml.

293)A urine specimen grows 170 colorless colonies and 5 red colonies on the medium. You should:

A. I.D. & perform sensitivity test on the colorless colony
B. I.D. & perform sensitivity test on the red colony
C. I.D the colorless colony
D. Request another specimen be submitted for culture
294)To determine the species of an organism which is biochemically identified as Salmonella, you would: 1. Determine which H antigens are present, 2. Determine which K antigens are present, 3. Determine which O antigens are present

A. 3 only
B. 1 & 3
C. 1, 2, & 3
D. 2 & 3


295)The media used as an enrichment for isolating Salmonellae and Shigellae in fecal specimens is:

A. TSA medium
B. MacConkey
C. Blood agar
D. GN Broth
296)If you observe "clumps" in your slide coagulase, you would record this as:

A. Contaminated
B. Positive
C. Negative
D. Mixed

297)The chemical in the optochin disk is:

A. 10% Sodium Deoxycholate
B. 3% Hydrogen peroxide
C. Bacitracin
D. Ethylhydrocupriene hydrochloride
298)On Eosin-methylene blue agar, the bacteria that ferment the lactose with acid production will produce:

A. Purple colonies
B. Yellow colonies
C. Colorless colonies
D. Red colonies
299)Staph. aureus is: a. Coagulase positive b. Coagulase negative c. DNase positive d. DNase negative

A. b & d
B. a & c
C. b & c
D. a & d

300)The test used to differentiate between Pneumococci and alpha-hemolytic streptococci is:
A. Bacitracin susceptibility
B. Catalase production
C. Optochin susceptibility
D. Esculin hydrolysis
301)The stain used for morphology purposes only is the:

A. Acid-fast stain
B. Simple stain
C. Wright's stain
D. Gram stain

302)A mixed infection is one which is:

A. Caused by more than one species
B. Restricted to a single site
C. Complicated by a second pathogen
D. Caused by one species

303)A microorganism which grows best in only a small amount of atmospheric oxygen is a/an:

A. Obligate anaerobe
B. Facultative anaerobe
C. Microaerophile
D. Obligate aerobe
304)In the Gram stain procedure, Safranin is applied immediately:

A. After the Iodine
B. After the Crystal violet
C. After the decolorizer
D. Before the Iodine
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